A. Part A — Intravenous Administration

10000 -
—&— 100 mg IV, Cahort 1 (n = 2-12)
. —g— 300 mg IV, Cohort 2 (n = 5-12)
=
£ 1000 4
c
i=]
*é‘ 7
IS
2 100 &
c
S
(&)
8
— 10 4
V]
=
<C
L
[
73]
a1-
0 14 28 42 56 70 84 98 112 126 140

Time Post Dose Initiation (day)

B. Part A - Subcutaneous Administration

10000 4 —¥— 300 mg SC, Cohart 3 (n = 12)
—@— 75 mg SC, Cohort 5 (n=6%-12)
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C. Part B — Subcutaneous Administration
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Note: Box plots show median (solid ling), mean (dashed line), 5" 25" 75" and 95" percentiles. For
graphical clarity, the LLOQ (0.106 nM) was entered for below the quantification level (BQL) values. OQutliers
are not shown.





